


1. If a chocke coil of negligible resistance works on 220 volt source and 5mA current is flowing through it, then the loss of power in chocke coil is-				
	(a) 0			(b) 11 watt		
	(c) 44 × 103 watt	(d) 1.1 watt

2. The value of current at half power point is- 							


(a) 		(b) 		

(c) 2 m			(d) 

3. In a series LR circuit, the voltage drop across inductor is 8 volt and across resistor is 6 volt. Then voltage applied and power factor of circuit respectively are:
	(a) 14 V, 0.8		(b) 10 V, 0.8		
	(c) 10 V, 0.6 		(d) 14 V, 0.6

4. The power factor of an A.C. circuit having resistance R and inductance L (connected in series) and an angular velocity  is –


	(a) 			(b)  	


	(c) 			(d) 

5. A sinusoidal AC current flows through a resistor of resistance R. If the peak current is p, then average power dissipated is :


	(a)  		(b) 		


	(c) 		(d) 

6. The self inductance of a choke coil is 10 mH. When it is conected with a 10V D.C. source, then the loss of power is 20 watt. When it is connected with 10 volt A.C. source loss of power is 10 watt. The frequency of A.C. source will be-							
	(a) 50 Hz		(b) 60 Hz		
	(c) 80 Hz		(d) 100 Hz

7. A coil of inductive reactance 31 has a resistance of 8 It is placed in  series with a condenser of capacitative reactance 25 . The combination is connected to an a.c. source of 110 volt . The power factor of the circuit is 
(a) 0.56		(b) 0.64			
(c) 0.80		`(d) 0.33

8. A circuit has a resistance of 12 ohm and an impedance of 15 ohm. The power factor of the circuit will be :
	(a) 0.8			(b) 0.4			
	(c) 1.25			(d) 0.125
9. A coil of inductance 5.0 mH and negligible resistance is connected to an alternating voltage 
V = 10 sin (100 t). The peak current in the circuit will be :
	(a) 2 amp 		(b) 1 amp		
	(c) 10 amp		(d) 20 amp

10. A resistor and a capacitor are connected to an AC supply of 200 volt, 50 Hz in series. The current in the circuit is 2 ampere. If the power consumed in the circuit is 100 watt, then the resistance in the circuit is:
	(a) 100 		(b) 25 		

	(c)  		(d) 400 

11. Power dissipated in an LCR series circuit connected to an a.c.source of emf  is :  	


	(a) 			(b) 


	(c) 		 	(d) 

12. The self inductance of the motor of an electric fan is 10 H. In order to impart maximum power at 50 Hz, it should be connected to a capacitance of :
	(a) 4F 			(b) 8F			
	(c) 1F			(d) 2F

13. In an LCR circuit, capacitance is changed from C to 2C. For the resonant frequency to remain unchanged, the inductance should be changed from L to :	
	(a) 4L			(b) 2L			
	(c) L/2			(d) L/4

14. What is The value of inductance L for which the current is a maximum in a series LCR circuit with
	 C =10  F and = 1000 radian/s?						      	
	(a) 10 mH					(b) 100mH	
	(c) 1 mH                				(d) cannot be calculated unless R is Known

15. A transistor – oscillator using a resonant circuit with an inductor L (of negligible resistance) and a capacitor C in series produce oscillations of frequency f. If L is doubled and C is changed to 4C, then frequency will be:	

	(a) 			    (b) 	8 f		


	(c) 		(d) 

16. For an A.C. circuit at the condition of resonance-					
(a) impedance = R	

	(b) impedance = 	
	(c) potential difference across L and C in same phase. 
	(d) The current and emf are having a phase difference .

17. The value of power factor cos in series LCR circuit at resonance is :
	(a) zero			(b) 1			
	(c) 1/2			(d) 1/2 ohm

18. A series LCR circuit containing a resistance of 120 ohm has angular resonance frequency 
4 × 103 rad s–1. At resonance, the voltage across resistance and inductance are 60V and 
40 V respectively. The values of L and C are respectively : 
	(a)  20 mH, 25/8 F	(b) 2mH, 1/35 F	
	(c) 20 mH, 1/40 F	(d) 2mH, 25/8 nF

19. In an LCR circuit, the capacitance is made one-fourth, when in resonance. Then what should be the change in inductance, so that the circuit remains in resonance ?
	(a) 4 times		(b) 1/4 times		
	(c) 8 times		(d) 2 times

20. A resistor R, an inductor L and a capacitor C are connected in series to an oscillator of frequency n. If the resonant frequency is nr, then the current lags behind voltage, when :
	(a) n = 0		(b) n < nr 		
	(c) n = rr 		(d) n > nr 

21. A 10 ohm resistance 0.5 mH coil and 10µF capacitor are joined in series when a suitable frequency of alternating current source is joined to this combination, the circuit resonates. If the resistance is halved the resonance frequency-						
	(a) is halved					(b) is doubled
	(c) remains unchanged				(d) is quadrupled

22. At a frequency more than the resonance frequency, the nature of an anti-resonant circuit is- 
(a) resistive 		(b) capacitive 		
(c) inductive 		(d) all of the above 

23. If resonance frequency is f and then the capacity is increased 4 times, then new resonance frequency becomes-	 									

	(a) 			(b) 2f			

	(c) f			(d) 

24. The core of any transformer is laminated so as to :  
	(a) reduce the energy loss due to eddy currents
	(b) make it light weight
	(c) make is robust and strong
	(d) increase the secondary voltage

25. In a transformer, number of turns in the primary are 140 and that in the secondary are 280. If current in primary is 4 A, then that in the secondary is : (assume that the transformer is ideal)
	(a) 4 A 			(b) 2 A 			
	(c) 6 A			(d) 10 A 

26. In a step-up transformer the turns ratio is 10. If the frequency of the current in the primary coil is 50 Hz then the frequency of the current in the secondary coil will be
	(a) 500 Hz		(b)  5 Hz		
	(c) 60 Hz		(d) 50 Hz

27. A power (step up) transformer with an 1 : 8 turn ratio has 60 Hz, 120 V across the primary; the load in the secondary is 104 . The current in the secondary is
	(a) 96 A			(b) 0.96 A		
	(c) 9.6 A		(d) 96 mA

28. A transformer is used to light a 140 watt, 24 volt lamp from 240 V AC mains. The current in the main cable is 0.7 amp. The efficiency of the transformer is :
	(a) 48%			(b) 63.8%		
	(c) 83.3%		(d) 90% 

29. In a step-up transformer the voltage in the primary is 220 V and the current is 5A. The secondary voltage is found to be 22000 V. The current in the secondary (neglect losses) is
	(a) 5 A			(b) 50 A			
	(c) 500 A		(d) 0.05 A

30. 

An ac voltage source V = V0 sin t is connected across resistance R and capacitance C as shown in figure. It is given that R = . The peak current is 0 . If the angular  frequency of the  voltage source is changed to , keeping the voltage amplitude constant,   then the new peak current in the circuit is
	[image: ]


	(a)   			(b)  		


	(c) 			(d) 
31. The r.m.s. value of potential difference V shown in the figure is :
[image: ]

	(a) V0  			(b) V0/		

	(c) V0 /2			(d) V0 /

32. A coil has resistance 30 ohm and inductive reactance 20 Ohm at 50 Hz frequency. If an ac source, of 200 volt, 100 Hz, is connected across the coil, the current in the coil will be : 
	(a) 4.0 A		(b) 8.0 A		

	(c) 		(d) 2.0 A


33. In an electrical circuit R,L, C and an a.c. voltage source are all connected in series. When L is removed from the circuit, the phase difference between the voltage the current in the circuit is /3. If instead, C is removed from the circuit, the phase difference is again /3. The power factor of the circuit is :   

	(a) 1/2			(b)  		

	(c) 1			(d) 

34. The instantaneous values of alternating current and voltages in a circuit are given as 

	i = sin(100t)ampere						

	
	The average power in Watts consumed in the circuit is : 


	(a) 			(b) 			


	(c) 			(d) 

35. A coil of self-inductance L is connected in series with a bulb B and an AC source. Brightness of the bulb decreases when :
	(a) number of turns in the coil is reduced.		
	(b) a capacitance of reactance XC = XL is included in the same circuit			
	(c) an iron rod is inserted in the coil		
	(d) frequency of the AC source is decreased

36. A transformer having efficiency of 90% is working on 200 V and 3 kW power supply. If the current in the secondary coil is 6 A the voltage across the secondary coil and the current in the primary coil respectively are :				
(a) 300 V, 15 A		(b) 450 V, 15 A		
(c) 450 V, 13.5 A	(d) 600 V, 15A

37. A resistance 'R' draws power 'P' when connected to an AC source. If an inductance is now placed in series with the resistance, such that the impedance of the circuit becomes 'Z', the power drawn will be:


	(a)  		(b) 		

	(c) P			(d) 
38. An inductor 20 mH, a capacitor 50 F and a resistor. 40 are connected in series across a source of emf V = 10 sin 340t. The power loss in A.C. circuit is
	(a) 0.89 W 		(b) 0.51 W		
	(c) 0.67W		(d) 0.76W		 

39. A small signal voltage V(t) = V0 sint  is applied across an ideal capacitor C :
	(a) Current (t), leads voltage V(t) by 180°
	(b) Current (t), lags voltage V(t) by 90°
	(c) Over a full cycle the capacitor C does not consume any energy from the voltage source.
	(d) Current (t) is in phase with voltage V(t)				

40. Which of the following combinations should be selected for better tuning of an L-C-R circuit used for communication?
	(a) R = 25 , L = 1.5 H, C = 45 F		(b) R = 20 , L = 1.5 H, C = 35 F	
	(c) R = 25 , L = 2.5 H, C = 45 F		(d) R = 15 , L = 3.5 H, C = 30 F

41. The potential differences across the resistance, capacitance and inductance are 80 V, 40 V and 100 V respectively in an L-C-R circuit. The power factor of this circuit is 
	(a) 1.0			(b) 0.4			
	(c) 0.5			(d) 0.8

42. A inductor 20 mH a capacitor 100 F and a resistor 50  are connected in series across a source of emf, V = 10 sin 314 t. The power loss in the circuit is :
	(a) 0.79 W		(b) 1.13 W		
	(c) 2.74 W		(d) 0.43 W

43. In a series LCR circuit R = 200  and the voltage and the frequency of the main supply is 220 V and 50 Hz respectively. On taking out the capacitance from the circuit the current lags behind the voltage by 30º. On taking out the inductor from the circuit the current leads the voltage by 30º. The power dissipated in the LCR circuit is 		
	(a) 305 W		(b) 210 W		
	(c) Zero W		(d) 242 W

44. A coil is suspended in a uniform magnetic field, with the plane of the coil parallel to the magnetic lines of force. When a current is passed through the coil it starts oscillating; it is very difficult to stop. But if an aluminium plate  is placed near to the coil, it stops. This is due to : 	
	(a) developement of air current when the plate is placed.
	(b) induction of electrical charge on the plate
	(c) shielding of magnetic lines of force as aluminium is a paramagnetic material.
	(d) Electromagnetic induction in the aluminium plate giving rise to electromagnetic damping.

45. 

For an RLC circuit driven with voltage of amplitude  and frequency  the current exhibits resonance. The quality factor, Q is given by :


	(a) 		(b) 	 		


	(c) 		 	(d) 

46. In an a.c circuit, the instantaneous e.m.f and current are given by 
	e = 100 sin 30t

	i = 20 sin 
	In one cycle of a.c the average power consumed by the circuit and the wattless current are, respectively :

	(a) 		(b) 50,0			

	(c) 50,10		(d) 


47. A power transmission line feeds input power at 2300 V to a step down transformer with its primary windings having 4000 turns. The output power is delivered at 230 V by the transformer. If the current in the primary of the transformer is 5A and its efficiency is 90%, the output current would be :  
	(a) 45 A			(b) 25 A			
	(c) 35 A			(d) 50 A

48. 
A series AC circuit containing an inductor (20 mH), a capacitor (120 F) and a resistor (60) is driven by an AC source of . The energy dissipated in the circuit in 60 s is : 
	(a) 3.39 × 103 J		(b) 5.65 × 102 J		
	(c) 5.17 × 102 J		(d) 2.26 × 103 J
49. 


In the above circuit   and R1 = 10. Current in L-R1 path is 1 and in C-R2 path it is 2. The voltage of A.C. source is given by volts, the phase difference between 1 and 2 is :		
[image: ]
		(a) 60º			(b) 0º			
		(c) 30º			(d) 90º

50. A LCR circuit behaves like a damped harmonic oscillator. Comparing it with a physical spring-mass damped oscillator having damping constant 'b', the correct equivalence would be:


	(a) 	  		(b) 


	(c) 	  		(d) 
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